SKU Details Merchant	SKU Details SKU Name	Status	SKU Details Location	Warehouse	SKU Details Cost Price	Stock Batches Remaining Quantity	Count	Stock Value
Annabel Karmel			B42	Bristol	£0.82	6		£4.92
	Organic Baby Pasta Hoops (250g)		B42 B48	 	 	ъ 7		
Annabel Karmel	Organic Baby Pasta Shapes (250g)			Bristol	£0.82			£5.74
Arrogant Snacks	American Bacon Flavour Vegan Jerky (50g)		E804	Bristol	£1.69	5		£8.45
Auguste Noel	Spaghetti no. 12 (500g)		D816	Bristol	£1.20	1		£1.20
Auguste Noel	Sushi Bamboo Rolling Mat		E521	Bristol	£0.55	15		£8.25
Axiom Brands	Amaro (750ml)		D165	Bristol	£17.18	5		£85.90
Axiom Brands	Mezcal Verde (700ml)		D166	Bristol	£22.35	1		£22.35
Axiom Brands	10 YO Peat Smoke (750ml)		D170	Bristol	£33.33	6		£199.98
Axiom Brands	Organic Limoncello (500ml)		D171	Bristol	£17.41	4		£69.64
Axiom Brands	Maraschino (750ml)		D176	Bristol	£15.75	6		£94.50
Axiom Brands	Triple Wood (750ml)		D178	Bristol	£30.13	6		£180.78
Axiom Brands	Classic Tonic (500ml)		D315	Bristol	£9.30	12		£111.60
Axiom Brands	Bourbon Cherries (135g)		D321	Bristol	£8.64	2		£17.28
Axiom Brands	Small Batch Grenadine (500ml)		D322	Bristol	£9.30	9		£83.70
Axiom Brands	Elderflower Tonic (500ml)		D331	Bristol	£9.30	11		£102.30
Axiom Brands	Vermouth Brined Olives (470g)		D370	Bristol	£8.39	9		£75.51
Axiom Brands	Aromatic Bitters (60ml)		D897	Bristol	£7.06	23		£162.38
Belazu Ingredient Co.	Dried Chanterelle Mushrooms (30g)		A116	Bristol	£1.65	1		£1.65
Belazu Ingredient Co.	Early Harvest Extra Virgin Olive Oil (500ml)		A314	Bristol	£5.10	5		£25.50
Belazu Ingredient Co.	Early Harvest Extra Virgin Olive Oil - Large Tin (3I)		A337	Bristol	£26.95	2		£53.90
Belazu Ingredient Co.	Vermouth Vinegar (500ml)		A412	Bristol	£7.95	8		£63.60
Belazu Ingredient Co.	Banyuls Vinegar (500ml)		A417	Bristol	£10.95	11		£120.45
Belazu Ingredient Co.	Tagine Paste (170g)		A480	Bristol	£1.80	2		£3.60
Belazu Ingredient Co.	Moscatel Vinegar (250ml)		A481	Bristol	£3.45	4		£13.80
Belazu Ingredient Co.	Shawarma Paste (170g)		A495	Bristol	£1.80	2		£3.60
Belazu Ingredient Co.	Dried Porcini Mushrooms (30g)		A643	Bristol	£3.80	3		£11.40
Belazu Ingredient Co.	Olive & Fig Leaf Oil (500ml)		A646	Bristol	£14.95	4		£59.80
Belazu Ingredient Co.	Zahter in Oil (160g)		A647	Bristol	£4.60	9		£41.40
Belazu Ingredient Co.	Argan Oil (250ml)		A683	Bristol	£18.45	4		£73.80
Belazu Ingredient Co.	Truffle & Pecorino Nut Mix (135g)		A688	Bristol	£2.70	9		£24.30
Belazu Ingredient Co.	Smoked Chilli Nut Mix (135g)		A719	Bristol	£2.00	18		£36.00
Belazu Ingredient Co.	Tahini (100% Humera Sesame Seeds) (500g)		B611	Bristol	£4.45	1		£4.45
Belazu Ingredient Co.	Sundried Tomato Pesto (165g)		B617	Bristol	£1.65	2		£3.30
Belazu Ingredient Co.	Rose Harissa Nut Mix (135g)		B76	Bristol	£2.00	8		£16.00
Belazu Ingredient Co.	Apple Vinegar (500ml)		C226	Bristol	£7.95	5		£39.75
Belazu Ingredient Co.	Chermoula (130g)		C920	Bristol	£1.40	6		£8.40
Belazu Ingredient Co.	Riesling Agridulce (500ml)		D29	Bristol	£7.95	8		£63.60
Belazu Ingredient Co.	Balsamic Semi Dried Tomatoes (300g)		E159	Bristol	£2.95	1		£2.95
Belazu Ingredient Co.	Aubergine Mezze (165g)		E549	Bristol	£1.65	1		£1.65
Belazu Ingredient Co.	Black Olive Tapenade (170g)		E551	Bristol	£1.90	7		£13.30

Belazu Ingredient Co.	Urfa Chilli Paste (170g)	E590	Bristol	£1.85	7	£12.95
Belazu Ingredient Co.	Rose Harissa Pesto (165g)	F132	Bristol	£1.65	1	£1.65
Belazu Ingredient Co.	Ezme Mezze (165g)	F202	Bristol	£1.65	2	£3.30
Bewleys Tea & Coffee Ltd.	Organic Peru - Femenino (Wholebean) (227g)	C386	Bristol	£3.06	1	£3.06
Bewleys Tea & Coffee Ltd.	Organic Ethiopia (Ground) (227g)	D437	Bristol	£3.46	1	£3.46
Biercraft	Neck Oil Session IPA (330ml)	A53	Bristol	£1.32	12	£15.84
Biercraft	Gamma Ray American Pale Ale (330ml)	A54	Bristol	£1.46	8	£11.68
Biercraft	Unfiltered Lager 0.5% - 2 Pack	B415	Bristol	£2.68	1	£2.68
Biercraft	India Pale Ale (330ml)	C78	Bristol	£1.94	4	£7.76
Biercraft	Bloody Ell, Blood Orange IPA (330ml)	D287	Bristol	£1.64	4	£6.56
Biercraft	Peckham Pils (440ml)	D36	Bristol	£1.74	3	£5.22
Biercraft	Keller Pils, Unfiltered Pilsner (440ml)	D574	Bristol	£1.84	2	£3.68
Biercraft	Farmhouse Ale (440ml)	D623	Bristol	£1.84	2	£3.68
Biercraft	High Diver (330ml)	D829	Bristol	£1.69	13	£21.97
Biercraft	Gamma Ray American Pale Ale (4unit)	D917	Bristol	£5.84	1	£5.84
Black + Blum	Active Charcoal Water Filter & Coil	C881	Bristol	£4.20	1	£4.20
Black + Blum	Active Charcoal Water Filter	C930	Bristol	£3.35	39	£130.65
Black + Blum	Insulated Water Bottle	D125	Bristol	£10.50	17	£178.50
Black + Blum	Thermo Pot	F76	Bristol	£16.75	22	£368.50
Black + Blum	Charcoal Filtration Set	F79	Bristol	£27.10	17	£460.70
Bluebell Vineyard	Hindleap Blanc de Blancs (75cl)	D336	Bristol	£16.40	42	£688.80
Boutique Bar Brands	Sea Arch Non Alcoholic Distilled Gin (70cl)	B51	Bristol	£13.89	5	£69.45
Bubala	Ras el Hanout (70g)	C766	Bristol	£3.30	23	£75.90
Bubala	Hawaij (70g)	C828	Bristol	£3.00	27	£81.00
Bubala	Zaatar (70g)	C853	Bristol	£3.00	21	£63.00
Bubala	Shakshuka Spice Mix (70g)	C872	Bristol	£3.30	28	£92.40
Bubala	Sumac (70g)	C878	Bristol	£2.40	22	£52.80
Bubala	Falafel Spice Mix (70g)	C901	Bristol	£3.30	27	£89.10
Bubala	Persian Lime Powder (70g)	C913	Bristol	£2.70	24	£64.80
Bubala	Black Seed Honey (200g)	D509	Bristol	£6.00	39	£234.00
Bubala	Preserved Limes (180g)	E465	Bristol	£2.70	23	£62.10
Bubala	Preserved Lemons (180g)	E676	Bristol	£2.70	39	£105.30
Bumboo	Luxury Bamboo Toilet Paper (Unwrapped) - Box of 24	A451	Bristol	£12.80	19	£243.20
Bumboo	Luxury Bamboo Toilet Paper (Wrapped) - Box of 24	F68	Bristol	£13.40	23	£308.20
Butler's Gin	Lemongrass & Cardamom Gin (50cl)	B429	Bristol	£13.80	25	£345.00
Caleno Drinks	Light & Zesty (50cl)	D804	Bristol	£10.87	12	£130.44
Caleno Drinks	Dark & Spicy (50cl)	D812	Bristol	£10.85	10	£108.50
Cartwright & Butler	The Grosmont Hamper	B437	Bristol	£82.00	10	£820.00
Cartwright & Butler	The Ultimate Christmas Celebration Box	B500	Bristol	£48.00	1	£48.00
Cartwright & Butler	The Thinking of You Treat Selection	B508	Bristol	£18.50	11	£203.50
Cartwright & Butler	The Salted Caramel Extravaganza hamper	B592	Bristol	£32.00	17	£544.00
Cartwright & Butler	The Ultimate Celebration Gift Box	B599	Bristol	£38.50	8	£308.00
Cartwright & Butler	The Chocolate Hamper	B606	Bristol	£34.00	8	£272.00
Cartwright & Butler	The Pocklington Hamper	B619	Bristol	£60.00	16	£960.00

Cartwright & Butler	The Chocolate & Fizz Hamper	B621	Bristol	£52.90	14	£740.60
Cartwright & Butler	The Whisky Gift Hamper	B628	Bristol	£59.00	18	£1,062.00
Cartwright & Butler	Sweet & Savoury Collection with white wine	B635	Bristol	£25.90	4	£103.60
Cartwright & Butler	Birthday Wishes Hamper	B641	Bristol	£31.00	18	£558.00
Cartwright & Butler	Cranberry Crumbles Tin (200g)	C101	Bristol	£4.30	10	£43.00
Cartwright & Butler	Stem Ginger Biscuits Tin (200g)	C201	Bristol	£4.30	9	£38.70
Cartwright & Butler	Mint Sauce (140g)	C215	Bristol	£2.42	8	£19.36
Cartwright & Butler	Lemon & Dark Chocolate Viennese Whirls Tin (200g)	C284	Bristol	£4.30	15	£64.50
Cartwright & Butler	Lemon Curd (275g)	C312	Bristol	£2.50	23	£57.50
Cartwright & Butler	Cheddar Cheese Crumbles (75g)	C331	Bristol	£1.50	13	£19.50
Cartwright & Butler	Earl Grey Whole Leaf Tea Bags Tin (45g)	C339	Bristol	£2.21	17	£37.57
Cartwright & Butler	Pattern Fruit Sweets Jar (170g)	C345	Bristol	£2.70	14	£37.80
Cartwright & Butler	Café York Blend Coffee Caddy (227g)	C357	Bristol	£5.65	11	£62.15
Cartwright & Butler	Fine Cut English Breakfast Marmalade (280g)	C367	Bristol	£2.50	6	£15.00
Cartwright & Butler	The Shortbread Selection Box (400g)	C375	Bristol	£5.00	6	£30.00
Cartwright & Butler	Demerara Shortbread Rounds Tin (200g)	C377	Bristol	£4.30	14	£60.20
Cartwright & Butler	Lemon Zest Shortbread Rounds Tin (200g)	C391	Bristol	£4.30	7	£30.10
Cartwright & Butler	Triple Chocolate Chunk Biscuits Tin (200g)	C40	Bristol	£4.30	7	£30.10
Cartwright & Butler	Salted Caramel Shortbread Rounds Tin (200g)	C407	Bristol	£4.30	16	£68.80
Cartwright & Butler	Delicate Afternoon Blend Loose Leaf Tea Tin (100g)	C413	Bristol	£6.60	12	£79.20
Cartwright & Butler	Earl Grey Celebrated Blend Loose Leaf Tea Tin (90g)	C414	Bristol	£5.30	11	£58.30
Cartwright & Butler	English Breakfast Blend Loose Leaf Tea Caddy (100g)	C429	Bristol	£5.30	11	£58.30
Cartwright & Butler	Green Tea with Jasmine Blend Loose Leaf Tea Caddy (70g)	C433	Bristol	£4.90	11	£53.90
Cartwright & Butler	Cola Cubes Sweets Jar (190g)	C443	Bristol	£2.70	14	£37.80
Cartwright & Butler	English Breakfast Blend Whole Leaf Tea Bags Tin (45g)	C467	Bristol	£2.21	10	£22.10
Cartwright & Butler	Soft Fruit Jellies Jar (190g)	C470	Bristol	£2.70	8	£21.60
Cartwright & Butler	Natural Honeycomb (400g)	C472	Bristol	£7.20	26	£187.20
Cartwright & Butler	After Dinner Blend Coffee Caddy (227g)	C473	Bristol	£5.65	11	£62.15
Cartwright & Butler	Dark Chocolate Drinking Chocolate Tin (250g)	C477	Bristol	£5.85	9	£52.65
Cartwright & Butler	Sherbet Pips Sweets Jar (190g)	C485	Bristol	£2.70	9	£24.30
Cartwright & Butler	Rhubarb & Custard Sweets Jar (190g)	C488	Bristol	£2.70	20	£54.00
Cartwright & Butler	Milk Chocolate Drinking Chocolate Tin (250g)	C509	Bristol	£5.85	8	£46.80
Cartwright & Butler	English Mustard (140g)	C515	Bristol	£2.42	15	£36.30
Cartwright & Butler	Strawberry Preserve (280g)	C517	Bristol	£2.66	15	£39.90
Cartwright & Butler	Wholegrain Mustard (140g)	C525	Bristol	£2.42	12	£29.04
Cartwright & Butler	The Afternoon Tea & Biscuit Selection Tin (390g)	C53	Bristol	£8.50	13	£110.50
Cartwright & Butler	Raspberry Preserve (280g)	C535	Bristol	£3.10	22	£68.20
Cartwright & Butler	Horseradish Cream (140g)	C553	Bristol	£2.42	9	£21.78
Cartwright & Butler	Natural Honeycomb (200g)	C562	Bristol	£3.92	10	£39.20
Cartwright & Butler	Traditional Oatcakes (200g)	C569	Bristol	£2.00	9	£18.00
Cartwright & Butler	Strawberry & White Chocolate Biscuits Tin (200g)	C58	Bristol	£4.30	10	£43.00
Cartwright & Butler	Cheese Biscuits (75g)	C594	Bristol	£1.70	8	£13.60
Cartwright & Butler	Cheese Wafers with Honey Mustard (75g)	C612	Bristol	£1.42	10	£14.20
Cawston Press	Rhubarb Sparkling Drink (Multipack) (330ml)	A12	Bristol	£1.88	37	£69.56

Cawston Press	Brilliant Beetroot (1I)	A138	Bristol	£1.33	46	£61.18
Cawston Press	Cloudy Pressed Apple Juice (1I)	A154	Bristol	£1.33	71	£94.43
Cawston Press	Apple & Rhubarb Juice (1I)	A184	Bristol	£1.33	63	£83.79
Cawston Press	Squeezed Orange Juice (1I)	A190	Bristol	£1.33	1	£1.33
Cawston Press	Apple & Ginger Juice (1I)	A198	Bristol	£1.33	45	£59.85
Cawston Press	Ginger Beer Sparkling Drink (Multipack) (330ml)	A48	Bristol	£1.88	59	£110.92
Cawston Press	Cloudy Apple Sparkling Drink (Multipack) (330ml)	A6	Bristol	£1.88	24	£45.12
Chase Distillery Ltd	Chase Rhubarb Vodka (70cl)	D345	Bristol	£25.65	5	£128.25
Chase Distillery Ltd	Chase Pink Grapefruit & Pomelo Gin (50cl)	D414	Bristol	£16.75	22	£368.50
Chase Distillery Ltd	Raspberry & Basil Gin (70cl)	D47	Bristol	£25.65	6	£153.90
Chase Distillery Ltd	Chase Original Potato Vodka (70cl)	D500	Bristol	£23.35	1	£23.35
Clark Foyster Wines	Strathbogie Riesling RS18 (750ml)	C162	Bristol	£15.00	2	£30.00
Clark Foyster Wines	Gruner Veltliner, Sandgrube (75cl)	D1	Bristol	£11.34	1	£11.34
Clark Foyster Wines	Limniona Rose (75cl)	D252	Bristol	£16.24	10	£162.40
Clark Foyster Wines	Champagne Brut Réserve (75cl)	D325	Bristol	£24.17	4	£96.68
Clark Foyster Wines	Champagne Brut Réserve Half (38cl)	D332	Bristol	£14.59	5	£72.95
Clark Foyster Wines	Champagne Rosé (75cl)	D334	Bristol	£26.49	7	£185.43
Clark Foyster Wines	Schistes (75cl)	D380	Bristol	£14.84	1	£14.84
Clark Foyster Wines	Saperavi red (75cl)	D398	Bristol	£9.68	6	£58.08
Clark Foyster Wines	Beerenauslese, Chardonnay (375ml)	D45	Bristol	£12.27	14	£171.78
Clark Foyster Wines	Yarra Valley Pinot Noir (750ml)	D452	Bristol	£18.90	4	£75.60
Clark Foyster Wines	F P Branco (75cl)	D667	Bristol	£9.13	2	£18.26
Clark Foyster Wines	Ribeiro Santo Tinto (75cl)	D736	Bristol	£8.55	1	£8.55
Clark Foyster Wines	Banyuls Rouge, Galateo (500ml)	D752	Bristol	£15.24	17	£259.08
Climpson & Sons	Single Origin: Sasaba, Ethiopia (Wholebean) (250g)	A653	Bristol	£6.50	30	£195.00
Climpson & Sons	Midnight Oil Coffee Liqueur (500ml)	A723	Bristol	£15.00	9	£135.00
Climpson & Sons	Broadway Blend (Wholebean) (250g)	C184	Bristol	£4.75	47	£223.25
Climpson & Sons	The Estate: Signature Espresso (Ground) (250g)	C220	Bristol	£5.15	64	£329.60
Climpson & Sons	The Baron (Ground) (250g)	C249	Bristol	£4.75	35	£166.25
Climpson & Sons	Decaf Espresso: La Plata, Colombia (Ground) (250g)	C256	Bristol	£5.50	26	£143.00
Climpson & Sons	Espresso Martini (1I)	D385	Bristol	£17.55	2	£35.10
Clothes Doctor	Handmade Face Mask - Orange Pattern	C297	Bristol	£10.00	90	£900.00
Clothes Doctor	No 2 Eco Wash Signature - Bulk (1kg)	C773	Bristol	£10.25	19	£194.75
Clothes Doctor	No 2 Eco Wash Signature (250g)	C900	Bristol	£5.75	16	£92.00
Clothes Doctor	No 4 Eco Wash for Silk (250ml)	E688	Bristol	£7.00	23	£161.00
Clothes Doctor	Eco Wash for Baby (1l)	F138	Bristol	£10.25	9	£92.25
Clothes Doctor	Handmade Face Mask - Patchwork	F63	Bristol	£10.00	116	£1,160.00
COLLECTION Cheese Merchant	Mini Chorizo (50g)	E35	Bristol	£1.40	1	£1.40
Compostable Bag UK	Compostable Bin Liners - 35L	A61	Bristol	£2.87	47	£134.89
Compostable Bag UK	Compostable Bin Liners - 25L	C148	Bristol	£2.30	113	£259.90
Compostable Bag UK	Compostable Bin Liners - 50L	C283	Bristol	£3.63	91	£330.33
Compostable Bag UK	Compostable Bin Liners - 30L	E344	Bristol	£2.52	90	£226.80
Compostable Bag UK	Compostable Bin Liners - 10L	E363	Bristol	£0.97	175	£169.75
Cornish Charcuterie	Mushroom Pâté with Chilli and Coriander (125g)	A489	Bristol	£3.95	1	£3.95

Cornish Charcuterie	Duck Rillette with Cranberries and Grand Marnier (125g)	A616	Bristol	£4.15	1	£4.15
Cru Kafe	Organic Colombian Coffee Pods	C117	Bristol	£2.34	1	£2.34
Cru Kafe	Organic Dark Roast Coffee Pods	C344	Bristol	£2.15	1	£2.15
Cru Kafe	Organic Intense Coffee Pods	C434	Bristol	£2.15	1	£2.15
Cru Kafe	Organic Long Black Coffee Bags (75g)	C453	Bristol	£2.47	1	£2.47
Cru Kafe	Organic Honduran Coffee Pods	D386	Bristol	£2.34	9	£21.06
Cru Kafe	Organic Half Caff Coffee Pods	E326	Bristol	£2.15	3	£6.45
DAME	Reusable Tampon Applicator Set	A686	Bristol	£14.28	25	£357.00
DAME	Organic Cotton Tampons - Super	C763	Bristol	£2.17	1	£2.17
Duchess Farms	Extra Virgin Rapeseed Oil (500ml)	A220	Bristol	£3.50	6	£21.00
Duchess Farms	Extra Virgin Rapeseed Oil (250ml)	A279	Bristol	£2.50	11	£27.50
Duchess Farms	Oak Smoked Cold-Pressed Rapeseed Oil (250ml)	A561	Bristol	£3.80	1	£3.80
Duchess Farms	Duchess Oil Horseradish Vinaigrette (250ml)	C320	Bristol	£3.50	9	£31.50
East London Liquor Company Ltd	East London Gin (70cl)	B478	Bristol	£13.92	6	£83.52
· · · · · · · · · · · · · · · · · · ·	Sonoma County Bourbon (700ml)	D204	Bristol	£31.99	1	£31.99
East London Liquor Company Ltd		D21	Bristol	£1.55	17	£26.35
East London Liquor Company Ltd		D248	Bristol	£27.66	3	£82.98
East London Liquor Company Ltd	East London Grapefruit Gin & Tonic - 2 Pack	D264	Bristol	£3.00	9	£27.00
East London Liquor Company Ltd	East London Rhubarb and Vodka - 2 Pack	D281	Bristol	£3.10	72	£223.20
East London Liquor Company Ltd	East London Rum & Ginger - 2 Pack	D292	Bristol	£3.10	25	£77.50
East London Liquor Company Ltd	Pomegranate & Vodka Seltzer (250ml)	D46	Bristol	£1.55	42	£65.10
East London Liquor Company Ltd	East London Rum (70cl)	D477	Bristol	£14.02	3	£42.06
East London Liquor Company Ltd	Wild Fermented Rum (700ml)	D61	Bristol	£20.00	21	£420.00
East London Liquor Company Ltd	Papalome Mezcal (500ml)	D69	Bristol	£25.00	12	£300.00
East London Liquor Company Ltd	ELLC. x Kew, Royal Botanic Gardens Gin (70cl)	D796	Bristol	£19.38	7	£135.66
Eat Wholesome	Organic Green Lentils (400g)	A10	Bristol	£0.66	1	£0.66
Eat Wholesome	Organic Light Coconut Milk - 4 Pack	A319	Bristol	£5.24	9	£47.16
Eat Wholesome	Organic Coconut Milk - 4 Pack	A327	Bristol	£5.24	3	£15.72
Eat Wholesome	Organic Chopped Tomatoes (400g)	A395	Bristol	£0.66	52	£34.32
Eat Wholesome	Organic Extra Virgin Coconut Oil (500ml)	A60	Bristol	£4.79	3	£14.37
Eat Wholesome	Organic Chickpeas (400g)	A84	Bristol	£0.66	1	£0.66
Eat Wholesome	Organic Coconut Milk (400ml)	A85	Bristol	£1.31	9	£11.79
Eat Wholesome	Organic Peeled Plum Tomatoes (400g)	B526	Bristol	£0.66	1	£0.66
Eat Wholesome	Organic Light Coconut Milk (400ml)	B552	Bristol	£1.31	3	£3.93
Eat Wholesome	Organic Black Beans (400g)	B604	Bristol	£0.66	40	£26.40
Eat Wholesome	Organic Pulled Jackfruit - Chicken Style (300g)	C551	Bristol	£2.39	1	£2.39
Eat Wholesome	Organic Pulled Jackfruit - Spiced Beef-Style (300g)	D532	Bristol	£2.39	1	£2.39
Eat Wholesome	Organic Curried Jackfruit - Coconut & Turmeric (300g)	D566	Bristol	£2.39	5	£11.95
Epicurium	Tropical Water (330ml)	D156	Bristol	£0.35	5	£1.75
Erbology	Organic Tigernut Granola with Sea Buckthorn and Aronia (220g)	B374	Bristol	£3.89	23	£89.47
Erbology	Organic Walnuts (Raw) (350g)	B557	Bristol	£6.49	11	£71.39
Erbology	Organic Aronia Powder (150g)	C771	Bristol	£8.44	31	£261.64
Erbology	Organic Sicilian Almonds (Raw) (500g)	 D130	Bristol	£9.74	29	£282.46
Erbology	Organic Sea Buckthorn Powder (35g)	 D688	Bristol	£5.19	9	£46.71

Erbology	Organic Dried Sea Buckthorn Berries (100g)	E310	Bristol	£5.19	15	£77.85
Erbology	Organic Tigernut Granola with Jerusalem Artichoke and Dark Chocolate (220g)	E311	Bristol	£3.89	52	£202.28
Erbology	Organic Pumpkin Seed Oil (200ml)	E530	Bristol	£8.44	25	£211.00
Erbology	Organic Sea Buckthorn Shot (40ml)	E575	Bristol	£1.94	17	£32.98
Erbology	Organic Aloe Vera Shot (40ml)	E600	Bristol	£1.94	88	£170.72
Erbology	Organic Hemp Seed Oil (200ml)	E672	Bristol	£6.49	30	£194.70
Erbology	Organic Milk Thistle Oil (100ml)	E693	Bristol	£6.49	14	£90.86
Farmdrop Stock	Zesty Chocolate Bar (45g)	X203	Bristol	£2.20	3	£6.60
Farmdrop Store	Belu Still Water (Glass bottle)	A228	Bristol	£3.64	15	£54.60
Farmdrop Store	Evian Still Water (Glass Bottle)	A300	Bristol	£5.00	18	£90.00
Farmdrop Store	Cool Mint Listerine (1000ml)	A518	Bristol	£4.25	10	£42.50
Farmdrop Store	Yutaka Yuzu Citrus Sauce (100ml)	A518 A584	Bristol	£3.00	10	£3.00
Farmdrop Store	Greenies - Original Medium (170g)	A619	Bristol	£3.33	10	£33.30
Farmdrop Store	Vaseline (250ml)	A645	Bristol	£3.10	2	£6.20
Farmdrop Store	Chungjungone Sunchang Ssamjang (Seasoned Bean Paste) (500g)	A673	Bristol	£5.60	2	£11.20
•	Gillette Venus Smooth Razor Blades (8unit)	A673	Bristol	£16.00	12	£11.20
Farmdrop Store	Neutrogena Clear and Soothe Micellar Jelly Make-Up Remover (200ml)	A685	Bristol	£5.00	10	£50.00
Farmdrop Store	Neutrogena Clear and Soothe Mousse Cleanser (150ml)	A693	Bristol	£6.00	3	£18.00
Farmdrop Store		A699	Bristol	£0.50		£5.50
Farmdrop Store	Dove Beauty Cream Bar (100g)	A708	Bristol		11 17	
Farmdrop Store	Bioderma Sensibio H2O Micellar Solution (500ml)	B36	Bristol	£9.49		£161.33
Farmdrop Store	Belu Sparkling Water (Glass bottle)			£3.64	22	£80.08
Farmdrop Store	PG Tips Original - Biodegradable Tea Bags	B381	Bristol	£3.00	11	£33.00
Farmdrop Store	Yorkshire Tea	B382	Bristol	£5.39	6	£32.34
Farmdrop Store	Greenies - Original Teenie (170g)	B385	Bristol	£3.33	7	£23.31
Farmdrop Store	Greenies - Original Petite (170g)	B389	Bristol	£3.33	8	£26.64
Farmdrop Store	Duracell Batteries 12 pack AA (12unit)	B679	Bristol	£4.99	7	£34.93
Farmdrop Store	Original Source Mint & Tea Tree Shower Gel (500ml)	B690	Bristol	£3.00	2	£6.00
Farmdrop Store	Duracell Batteries 12 pack AAA (12unit)	B695	Bristol	£5.74	12	£68.88
Farmdrop Store	Durex Extra safe Condoms	C750	Bristol	£8.00	1	£8.00
Farmdrop Store	Corsodyl Mouthwash (300ml)	C752	Bristol	£5.00	2	£10.00
Farmdrop Store	Durex Comfort XL condoms	C937	Bristol	£8.00	2	£16.00
Farmdrop Store	Angostura Aromatic Bitters (200ml)	D12	Bristol	£10.00	1	£10.00
Farmdrop Store	Veuve Clicquot Ponsardin Yellow Label Brut Champagne (75cl)	D35	Bristol	£36.66	1	£36.66
Farmdrop Store	Lea & Perrins Worcestershire Sauce (290ml)	D465	Bristol	£2.80	2	£5.60
Farmdrop Store	Bollinger Special Cuvee Brut NV (75cl)	D6	Bristol	£33.33	2	£66.66
Farmdrop Store	Mae Ploy Sweet Chilli Sauce (730ml)	D748	Bristol	£4.30	2	£8.60
Farmdrop Store	Daura Damm Gluten Free Beer (glass bottles)	D8	Bristol	£5.00	2	£10.00
Farmdrop Store	Kiss The Hippo - Organic House Blend Pods	E203	Bristol	£16.50	11	£181.50
Farmdrop Store	Maille Wholegrain Mustard (210g)	E685	Bristol	£1.50	1	£1.50
Farmdrop Store	Monin Pure Cane Sugar Syrup 70cl (70cl)	E696	Bristol	£6.19	1	£6.19
Farmdrop Store	Benylin Chesty Cough - 300ml (300ml)	E706	Bristol	£9.15	1	£9.15
Farmdrop Store	Benylin Children's Cough Syrup 3+ Months (125ml) (125ml)	E708	Bristol	£3.99	2	£7.98
Farmdrop Store	Aussie Deep Treatment 3 Minute Miracle Moist Hair Conditioner Treatment 250ml (250ml)	E711	Bristol	£4.99	13	£64.87
Farmdrop Store	Venus Embrace Sensitive Women's Razor + 6 Refill Blades (1unit)	E714	Bristol	£19.08	3	£57.24

Farmdrop Store	Bird's Original Custard Powder (350g)	1	F135	Bristol	£1.39	10	£13.90
Farmdrop Store	Nocciolata -Rigoni di Asiago Bio Italian Chocolate Spread (270g)		F294	Bristol	£7.42	10	£7.42
·	Classic Tabasco -McIlhenny Pepper Sauce (57ml)		F324	Bristol	£1.70	1	£1.70
Farmdrop Store Five Dot Botanics	Rose Clay & Lavender Restorative Mask (30ml)		A677	Bristol	£13.52	6	£1.70
			C756	Bristol			
Five Dot Botanics	Green Coffee & Cacay Nourishing Facial Serum (30ml)		A42		£19.76	11	£217.36
Fourpure Brewery	American Pale Ale (330ml)			Bristol	£1.08	5	£5.40
Freestar	Freestar Premium Alcohol Free Beer 0% ABV 12 PACK (bottles) (4l)		D813	Bristol	£13.68	19	£259.92
FUDCO	Purifying Body Scrub (200ml)		A482	Bristol	£4.58	2	£9.16
FUDCO	Radiance Day Cream (50ml)		A740	Bristol	£8.70	4	£34.80
FUDCO	Soothing Day Cream (50ml)		C885	Bristol	£8.70	7	£60.90
FUDCO	Soothing Daily Facial Wash (150ml)		E516	Bristol	£5.50	3	£16.50
FUDCO	Radiance Body Scrub (200ml)		F158	Bristol	£4.58	2	£9.16
Genie Drinks Ltd	Genie Live Soda, Lemon & Ginger - 4 Pack		A132	Bristol	£4.80	2	£9.60
Genie Drinks Ltd	Genie Kombucha – Crisp Citrus (MULTIPACK) (275ml)		B129	Bristol	£7.20	10	£72.00
Genie Drinks Ltd	Genie Live Soda, Original Orange (MULTIPACK) (330ml)		B315	Bristol	£7.20	9	£64.80
Genie Drinks Ltd	Genie Live Soda, Lemon & Ginger (MULTIPACK) (330ml)		B471	Bristol	£7.20	2	£14.40
Genie Drinks Ltd	Genie Kombucha – Fiery Ginger (MULTIPACK) (275ml)		B533	Bristol	£7.20	51	£367.20
Genie Drinks Ltd	Genie Kombucha – Dry Apple (MULTIPACK) (275ml)		B559	Bristol	£7.20	12	£86.40
Georganics	English Peppermint Toothpaste (60ml)		A527	Bristol	£3.16	30	£94.80
Georganics	Oil Pulling Spearmint Mouthwash (275ml)		C800	Bristol	£5.45	19	£103.55
Georganics	Beechwood Charcoal Toothbrush		C830	Bristol	£2.02	39	£78.78
Georganics	Natural Chewing Gum - English Peppermint		E316	Bristol	£2.25	19	£42.75
Georganics	Activated Charcoal Oil Pulling Mouthwash (100ml)		E408	Bristol	£3.16	31	£97.96
Georganics	Activated Charcoal Toothpaste (60ml)		E473	Bristol	£3.16	19	£60.04
Georganics	Sonic Toothbrush		E605	Bristol	£30.16	18	£542.88
Georganics	Sonic Toothbrush Heads - Medium		E606	Bristol	£4.26	5	£21.30
Global Ethics Liquor Co Ltd	One Sage Gin (700ml)		D78	Bristol	£21.00	6	£126.00
Global Ethics Liquor Co Ltd	One G&T - Sage & Apple (250ml)		D930	Bristol	£1.68	22	£36.96
Global Ethics Liquor Co Ltd	One G&T - Sage & Orange Zest (250ml)		D931	Bristol	£1.68	22	£36.96
Grind	Grind Organic Coffee Pods - House Blend		B676	Bristol	£2.75	263	£723.25
Grind	Grind Organic Coffee Pods - Light Blend		B685	Bristol	£2.75	103	£283.25
Grind	Grind Organic Coffee Pods - Dark Blend		B691	Bristol	£2.75	112	£308.00
Grind	Grind Organic Coffee Pods - Decaf Blend		B696	Bristol	£2.75	175	£481.25
Hammonds of Knutsford	Grove 42 & Lemongrass Tonic (250ml)		D463	Bristol	£1.14	1	£1.14
Hammonds of Knutsford	Spice 94 Mycelium Gift Set (70cl)		D833	Bristol	£19.70	22	£433.40
Hampson Woods Ltd	Ash Serving Board - Size 4		C524	Bristol	£29.79	7	£208.53
Hampson Woods Ltd	Kitchen Prep Board in Ash - Size 2		C530	Bristol	£36.60	8	£292.80
Hampson Woods Ltd	London Plane - Size 5		C540	Bristol	£36.67	35	£1,283.45
Hampson Woods Ltd	Kitchen Prep Board in Ash - Size 1		C550	Bristol	£22.92	10	£229.20
Hampson Woods Ltd	Porridge Spoon		E646	Bristol	£6.65	16	£106.40
HANX	Natural Lubricant (50ml)		A713	Bristol	£8.70	5	£43.50
HANX	Natural Condoms		C798	Bristol	£2.90	128	£371.20
Hodmedod's	Fava Bean Umami Paste (175g)		A760	Bristol	£2.16	5	£10.80
Hodmedod's	Organic Vaal Dhal (400g)		B261	Bristol	£1.35	1	£1.35
riodiliedou S	Organic vaar Dilai (400g)		DZUI	וטוטנוום	11.33	1	11.33

Hodmedod's	Organic Split Fava Beans (500g)	C158	Bristol	£1.50	1	1	£1.50
Hodmedod's	Olive Green Lentils (500g)	C222	Bristol	£2.25	1		£2.25
Hodmedod's	Roasted Fava Beans - Salted (300g)	D719	Bristol	£2.10	2		£4.20
Hodmedod's	Roasted Fava Beans - Sea Salt & Vinegar (300g)	F87	Bristol	£2.10	10		£21.00
Hownd	Butch Leather Cologne For Man Dogs (300g)	B484	Bristol	£6.20	6		£37.20
Hownd	Peach Bum Parfum For Lady Dogs (300g)	B485	Bristol	£6.20	8		£49.60
Hownd	HERO Bowl Ocean Blue Small 18cm	B486	Bristol	£7.10	5		£35.50
Hownd	HERO Bowl Ocean Blue Large 23cm	B488	Bristol	£8.80	6		£52.80
Hownd	Keep Calm Natural Conditioning Shampoo (300g)	C949	Bristol	£4.95	9		£44.55
Hownd	Got An Itch? Natural Body Mist (300g)	E163	Bristol	£4.95	6		£29.70
Hownd	Yup You Stink! Natural Body Mist (300g)	E167	Bristol	£4.95	5		£24.75
Hownd	Yup You Stink! Natural Conditioning Shampoo (300g)	E567	Bristol	£4.95	7		£34.65
Hownd	Got An Itch? Natural Conditioning Shampoo (300g)	E810	Bristol	£4.95	5		£24.75
Hownd	Dry Foam Wash - Natural Dry Shampoo (250g)	F192	Bristol	£6.20	7		£43.40
Hownd	Yup You Stink! Antibacterial Emergency Dog Wipes (100g)	F243	Bristol	£1.65	13		£21.45
Hownd	White and Bright Conditioning Shampoo (300g)	F306	Bristol	£5.30	4		£21.20
Hownd	Banana Facial & Natural Tear Stain Treatment (300g)	F358	Bristol	£6.30	3		£18.90
Hownd	Hemp by Hownd Skin, Nose and Paw Balm with Sun Protection (70g)	F379	Bristol	£5.30	10		£53.00
Hownd	Playful Pup Skin, Nose, and Paw Balm with Sun Protection (70g)	F380	Bristol	£5.30	15		£79.50
Iberian Drinks UK Ltd	Santurnia Joven Rioja (75cl)	A608	Bristol	£7.20	1		£7.20
Iberian Drinks UK Ltd	A Temps (75cl)	C182	Bristol	£10.70	1		£10.70
Iberian Drinks UK Ltd	Serè (750ml)	C214	Bristol	£8.90	1		£8.90
Iberian Drinks UK Ltd	Santurnia Joven Blanco, Rioja (75cl)	D427	Bristol	£7.20	1		£7.20
Iberian Drinks UK Ltd	Pedro Ximénez (375ml)	D453	Bristol	£9.20	2		£18.40
Iberian Drinks UK Ltd	7cepas Tinto (75cl)	D534	Bristol	£9.90	3		£29.70
Iberian Drinks UK Ltd	Hontza Rioja (75cl)	E337	Bristol	£11.20	1		£11.20
JBC Juices	Organic Hibiscus Juice (250ml)	D732	Bristol	£1.22	4		£4.88
Jensen	Bermondsey Dry Gin (700ml)	D32	Bristol	£16.50	40		£660.00
Jensen	Old Tom Gin (700ml)	D859	Bristol	£17.19	27		£464.13
Joseph Joseph	Index Bamboo Chopping Board	A355	Bristol	£32.92	2		£65.84
Joseph Joseph	CanDo Plus Can Opener - Dark Grey	A622	Bristol	£7.50	19		£142.50
Joseph Joseph	Elevate Knives Bamboo 5-piece Knife Set with Bamboo Block	C242	Bristol	£49.58	19		£49.58
Joseph Joseph	Spiraliser	C548	Bristol	£6.25	24		£150.00
Joseph Joseph	Easy Garlic Presser	C767	Bristol	£7.50	8		£60.00
Joseph Joseph	Helix Garlic Press	C783	Bristol	£6.25	6		£37.50
Joseph Joseph	Helix Citrus Press	F115	Bristol	£5.00	6		£30.00
LBW Drinks Ltd.	Sparkling Rosé (75cl)	A453	Bristol	£17.45	2		£34.90
LBW Drinks Ltd.	Brut Reserve (75cl)	D184	Bristol	£13.28	2		£26.56
LBW Drinks Ltd.	Lyme Bay Shoreline (75cl)	D184	Bristol	£9.42	1		£9.42
Lily Violet May	Traditional Wreath (16 Inches)	B249	Bristol	£30.00	20		£600.00
Link Nutrition	Multi Plus - Food Based Complex	E559	Bristol	£10.40	20		£20.80
	Night - Food Based Complex	E616	Bristol		1		£20.80 £9.56
Link Nutrition	·	E624	Bristol	£9.56	4		
Link Nutrition	B-Complex - Food Based Supplement		!	£8.31			£33.24
Link Nutrition	Omega 3 Fish Oil - Food Supplement	E633	Bristol	£9.56	8		£76.48

Little Freddie	Free Range Chicken & Kale Pot Pie Multipack	A173	Bristol	£6.96	18	£125.28
Little Freddie	Free Range Chicken & Ratatouille Linguine Multipack	A196	Bristol	£6.96	9	£62.64
Little Freddie	Organic Pink Lady Apple Greek Style Yoghurt Mutlipack	A252	Bristol	£4.92	5	£24.60
Little Freddie	Slow-Cooked Haricot Bean & Sweet Potato Cassoulet	A617	Bristol	£6.96	19	£132.24
Little Freddie	Mighty Mango Smoothie Multipack	B134	Bristol	£2.65	7	£18.55
Little Freddie	Sweet Potato & Carrot Greek Style Yoghurt Multipack	B480	Bristol	£4.92	12	£59.04
Little Freddie	Butternut Squash Risotto with Mascarpone Cheese Multipack	B525	Bristol	£6.96	10	£69.60
Little Freddie	Blueberry & Banana Greek Style Yoghurt Multipack	B548	Bristol	£4.92	16	£78.72
Little Freddie	Tomato & Paprika Multigrain Smiles Stage 3 Multipack	C49	Bristol	£1.56	23	£35.88
Little Freddie	Carrot & Pumpkin Puffs Stage 2 Multipack	C558	Bristol	£2.40	22	£52.80
Little Freddie	Pineapple & Raspberry Puffs Stage 2 Multipack	C559	Bristol	£2.40	1	£2.40
Little Freddie	Carrot & Chickpea with Pumpkin Seed Butter Multipack	C650	Bristol	£6.06	11	£66.66
Little Freddie	Cheese Multigrain Smiles Stage 3 Multipack	C663	Bristol	£1.56	14	£21.84
Little Freddie	Organic Banana Greek Style Yoghurt Multipack	D5	Bristol	£4.92	10	£49.20
Little Freddie	Prune Greek Style Yoghurt Multipack	D51	Bristol	£4.92	2	£9.84
Little Freddie	Carrot, Pumpkin, Pea & Pear Multipack	E189	Bristol	£5.28	8	£42.24
Little Freddie	Root Vegetable Mash Multipack	E277	Bristol	£5.28	12	£63.36
Little Freddie	Balanced Prunes & Apples	E324	Bristol	£4.92	12	£59.04
Little Freddie	Pouch Recycling Bag	E424	Bristol	£0.98	52	£50.96
Little Freddie	Vibrant Peaches & Raspberries	F253	Bristol	£4.92	12	£59.04
Little Freddie	Exotic Coconut and Tropical Fruits	F255	Bristol	£4.92	9	£44.28
Little Freddie	Juicy Strawberries, Blueberries & Oats	F258	Bristol	£4.92	10	£49.20
Little Freddie	Luscious Cherry with Greek Style Yoghurt	F259	Bristol	£4.92	9	£44.28
Longbottom & Co.	Virgin Mary (2I)	D75	Bristol	£11.64	6	£69.84
Love4Local	Chunky Tapenade (Green & Black Olives with Sundried Tomato, Feta & Greek Basil)	(180g) D281	Bristol	£2.39	1	£2.39
Love4Local	Mint Jelly (227g)	E80	Bristol	£3.02	1	£3.02
Loxwood Meadworks Ltd	Pure Mead (750ml)	D537	Bristol	£9.00	7	£63.00
Made For Drink	Duck Fritons (32g)	E480	Bristol	£1.75	20	£35.00
Meanwhile Drinks	Pensador Mezcal (50cl)	D571	Bristol	£28.61	1	£28.61
Merchant Gourmet	Wholewheat Giant Couscous (300g)	A16	Bristol	£1.20	16	£19.20
Merchant Gourmet	Tomatoey French Puy & Green Lentils - Cooked (250g)	A178	Bristol	£1.33	8	£10.64
Merchant Gourmet	Freekeh - Cooked (250g)	A183	Bristol	£1.30	12	£15.60
Merchant Gourmet	Beluga Lentils - Cooked (250g)	A203	Bristol	£1.18	1	£1.18
Merchant Gourmet	Chestnut Puree (200g)	C105	Bristol	£0.85	35	£29.75
Merchant Gourmet	Whole Chestnuts (180g)	C227	Bristol	£1.25	42	£52.50
Merchant Gourmet	Smoky Spanish-Style Grains & Rice - Cooked (250g)	C308	Bristol	£1.23	14	£17.22
Merchant Gourmet	Red & White Quinoa - Cooked (250g)	D73	Bristol	£1.27	11	£13.97
Merchant Gourmet	Mexican Style Grains & Pulses - Cooked (250g)	E525	Bristol	£1.27	17	£21.59
Modal Wines	Moscatel Galego (75cl)	D109	Bristol	£9.95	1	£9.95
Modal Wines	Bleuet (75cl)	D231	Bristol	£14.20	2	£28.40
Modal Wines	Cava Funambul Brut Nature (750ml)	D630	Bristol	£10.65	11	£117.15
Modal Wines	Abril (750ml)	D705	Bristol	£8.55	3	£25.65
Modern Baker	Organic Oat, Pecan & Cranberry Sourdough Biscuits	A579	Bristol	£3.90	42	£163.80
Modern Baker	Organic Chocolate & Hazelnut Sourdough Biscuits	C818	Bristol	£3.90	37	£144.30

Modern Baker	Organic Salted Peanut & Chocolate Chip Sourdough Biscuits	F218	Bristol	£3.90	23	£89.70
Modern Baker	Organic Ginger & Tumeric Biscuits	F58	Bristol	£4.06	42	£170.52
Monmouth Coffee	Monmouth Espresso (Wholebean) (1kg)	B510	Bristol	£16.00	27	£432.00
Monmouth Coffee	El Salvador, Malacara A (Wholebean) (250g)	B531	Bristol	£5.25	49	£257.25
Monmouth Coffee	Monmouth Espresso (Ground) (250g)	D575	Bristol	£4.00	79	£316.00
Monmouth Coffee	Organic Espresso (Wholebean) (250g)	D584	Bristol	£4.05	68	£275.40
Monmouth Coffee	Monmouth Espresso (Wholebean) (500g)	F137	Bristol	£8.00	51	£408.00
More Wine Ltd	Filas Branco (3I)	B203	Bristol	£26.00	6	£156.00
MOTH Drinks LTD	Espresso Martini (125ml)	D906	Bristol	£2.95	18	£53.10
MOTH Drinks LTD	Negroni (125ml)	D907	Bristol	£2.95	36	£106.20
MOTH Drinks LTD	Negroni (100ml)	D907	Bristol	£2.45	33	£80.85
MOTH Drinks LTD	Old Fashioned (100ml)	D908	Bristol	£2.95	21	£61.95
MOTH Drinks LTD	Margarita (125ml)	D909	Bristol	£2.95	63	£185.85
Mydflower	Elderflower Sparkling Wine - 2 Pack	D279	Bristol	£3.90	10	£39.00
Mydflower	Elderflower Sparkling Wine (330ml)	E741	Bristol	£1.95	2	£3.90
Nancy & Betty Studio	Brussels Sprouts Christmas Wrapping Paper (Folded)	E14	Bristol	£0.80	13	£10.40
Nancy & Betty Studio	Pine Cone Christmas Wrapping Paper (Folded)	E24	Bristol	£0.80	15	£12.00
Nancy & Betty Studio	London Christmas Wrapping Paper (Folded)	E31	Bristol	£0.80	43	£34.40
Nancy & Betty Studio	Oak Leaves & Acorns Luxury Christmas Crackers	E34	Bristol	£16.50	7	£115.50
Nancy & Betty Studio	Brussels Sprout Luxury Christmas Crackers	E37	Bristol	£16.50	10	£165.00
Nancy & Betty Studio	PIne Cone Gift Tags	E38	Bristol	£1.85	8	£14.80
Nancy & Betty Studio	Brussels Sprout Gift Tags	E42	Bristol	£1.85	3	£5.55
Nancy & Betty Studio	Oak Leaves & Acorns Wrapping Paper (Folded)	E44	Bristol	£0.80	48	£38.40
Nancy & Betty Studio	Oak Leaves & Acorns Gift Tags	E46	Bristol	£1.85	8	£14.80
Nancy & Betty Studio	Brussels Sprouts Sticky Tape	E48	Bristol	£2.95	4	£11.80
Nancy & Betty Studio	Nutcracker Story Gift Tags	E49	Bristol	£1.85	1	£1.85
Nancy & Betty Studio	Nutcracker Story Luxury Christmas Crackers	E5	Bristol	£16.50	46	£759.00
Neal's Yard Remedies	Mens Cooling Aftershave Balm (50ml)	A566	Bristol	£10.35	5	£51.75
Neal's Yard Remedies	Mother's Balm (120g)	A707	Bristol	£9.20	7	£64.40
Neal's Yard Remedies	Garden Mint & Bergamot Hand Wash (200ml)	B184	Bristol	£6.90	2	£13.80
Neal's Yard Remedies	Bee Lovely Bath and Shower Gel (295ml)	B220	Bristol	£6.44	2	£12.88
Neal's Yard Remedies	Garden Mint & Bergamot Hand Lotion (200ml)	B88	Bristol	£6.48	5	£32.40
Neal's Yard Remedies	Seaweed & Arnica Foaming Bath (200ml)	C233	Bristol	£7.13	3	£21.39
Neal's Yard Remedies	Mother's Bath Oil (100ml)	C803	Bristol	£7.13	5	£35.65
Neal's Yard Remedies	Goodnight Pillow Mist (45ml)	C907	Bristol	£6.90	1	£6.90
Neal's Yard Remedies	Unwind Foaming Bath Collection - Giftset	E110	Bristol	£10.12	2	£20.24
Neal's Yard Remedies	Relax Prepare for Sleep Collection - Giftset	E112	Bristol	£4.60	1	£4.60
Neal's Yard Remedies	Organic Argan Oil (50ml)	E542	Bristol	£8.05	12	£96.60
Neal's Yard Remedies	Geranium & Orange Bath Oil (100ml)	E556	Bristol	£6.90	25	£172.50
Neal's Yard Remedies	Remedies to Roll - Women's Balance (10ml)	E578	Bristol	£3.66	5	£18.30
Neal's Yard Remedies	Rejuvenating Frankincense Facial Wash (100ml)	E586	Bristol	£7.82	1	£7.82
Neal's Yard Remedies	Reviving White Tea Facial Mask (50g)	E598	Bristol	£12.88	10	£128.80
Neal's Yard Remedies	Reviving White Tea Facial Mist (45ml)	E615	Bristol	£5.98	2	£11.96
Neal's Yard Remedies	Nurturing Rose Shampoo (200ml)	E622	Bristol	£5.29	5	£26.45

Neal's Yard Remedies	Mens Purifying Facial Wash (100ml)	E625	Bristol	£7.83	4	£31.32
Neal's Yard Remedies	Frankincense Hydrating Cream (50g)	E640	Bristol	£13.80	1	£13.80
Neal's Yard Remedies	Reviving White Tea Eye Gel (10ml)	E643	Bristol	£11.04	17	£187.68
Neal's Yard Remedies	Organic Aromatherapy Candle - Calming (190g)	E737	Bristol	£16.10	2	£32.20
Neal's Yard Remedies	Organic Aromatherapy Candle - Balancing (190g)	F264	Bristol	£16.10	2	£32.20
Newlands Juices	Pressed Apple Juice (75cl)	A350	Bristol	£1.75	190	£332.50
Newton & Pott	Blackberry & Gin Jam (260g)	X21	Bristol	£3.00	11	£33.00
Nine Meals From Anarchy	Garden Herb Organic Veg Stock (105g)	A744	Bristol	£2.44	134	£326.96
Nine Meals From Anarchy	Umami Organic Veg Stock (105g)	A767	Bristol	£2.44	125	£305.00
Nine Meals From Anarchy	Original Organic Veg Stock (105g)	E541	Bristol	£2.44	148	£361.12
Nirvana Brewery	Dark & Rich Stout 0.0% ABV (330ml)	B8	Bristol	£1.25	7	£8.75
Olives Et Al	Red Chilli Harissa (180g)	A585	Bristol	£2.83	20	£56.60
Olives Et Al	Sun Dried Tomato Pesto di Pomodoro (135g)	A666	Bristol	£2.24	19	£42.56
Olives Et Al	Rich Shallot & Orange Dressing & Marinade (250ml)	C176	Bristol	£2.77	6	£16.62
Olives Et Al	Sunshine Rosemary & Garlic Olives (250g)	C782	Bristol	£2.69	12	£32.28
Olives Et Al	Spiced Dukkah (90g)	C848	Bristol	£2.69	27	£72.63
Olives Et Al	Proper Mustard & Herb Dressing & Marinade (250ml)	C928	Bristol	£2.77	17	£47.09
Olives Et Al	Chilli Puffs (151g)	D731	Bristol	£1.63	63	£102.69
Olives Et Al	Basil & Garlic Pesto alla Genovese (135g)	E504	Bristol	£2.24	41	£91.84
Olives Et Al	Citrus Lemon & Dill Dressing & Marinade (250ml)	E508	Bristol	£2.77	5	£13.85
Olives Et Al	Verde Lemon & Coriander Pitted Olives (250g)	E538	Bristol	£2.71	11	£29.81
Olives Et Al	Nocellara Olives (250g)	F157	Bristol	£2.70	39	£105.30
Olives Et Al	Lilliput Capers (250g)	F159	Bristol	£2.70	63	£170.10
Olives Et Al	Capers Capotes (250)	F184	Bristol	£2.70	78	£210.60
Olives Et Al	Pickled Cornichons (240g)	F357	Bristol	£2.25	27	£60.75
Ossa Organic	100% Grass Fed Bovine Collagen Peptides (400g)	E560	Bristol	£19.49	13	£253.37
Ossa Organic	100% Pasture Raised Bovine Gelatin (400g)	E778	Bristol	£19.49	16	£311.84
Ottolenghi Webstore	Green Chilli Shatta (190g)	B352	Bristol	£5.20	19	£98.80
Ottolenghi Webstore	SIMPLE 10 Ingredients Hamper	B353	Bristol	£38.25	9	£344.25
Ottolenghi Webstore	The FLAVOUR Ingredients Hamper	B356	Bristol	£49.30	10	£493.00
Ottolenghi Webstore	Rosemary Spiced Nuts (180g)	E284	Bristol	£6.12	15	£91.80
Ottolenghi Webstore	Seeds for Salad (190g)	E285	Bristol	£4.96	8	£39.68
Ottolenghi Webstore	Earth & Zest Spice Collection	E286	Bristol	£12.00	9	£108.00
Ottolenghi Webstore	Chilli Lover's Spice Collection	E287	Bristol	£12.00	8	£96.00
Ottolenghi Webstore	The Ottolenghi Spice Blend Collection	E288	Bristol	£12.00	8	£96.00
Ottolenghi Webstore	The Seed Spice Collection	E289	Bristol	£12.00	13	£156.00
Ottolenghi Webstore	Hot & Sharp Spice Collection	E290	Bristol	£12.00	17	£204.00
Ottolenghi Webstore	Dukkah (100g)	E721	Bristol	£5.20	9	£46.80
Ottolenghi Webstore	Al Arz Tahini (453g)	E722	Bristol	£4.96	12	£59.52
Ottolenghi Webstore	Al Arz Whole Sesame Seed Tahini (453g)	E723	Bristol	£4.96	12	 £59.52
Pale Fox	Pale Fox Single Estate Prosecco DOCG (75cl)	A290	Bristol	£15.95	96	£1,531.20
Panda Packaging	Bamboo Lunchbox	C514	Bristol	£11.80	34	£401.20
Paynes Southdown Bee Farm	Clear English Honey (227g)	A256	Bristol	£3.35	2	£6.70
Paynes Southdown Bee Farm	Clear English Honey (340g)	C237	Bristol	£4.95	1	£4.95

Paynes Southdown Bee Farm	Thick English Honey (340g)		E527	Bristol	£4.95	1	£4.95
Pentire	Pentire Adrift (70cl)		D823	Bristol	£14.90	39	£581.10
Petty Wood	Teriyaki Sauce (200g)		A502	Bristol	£1.25	1	£1.25
Petty Wood	Tikka Masala Spice & Stir (350g)		C272	Bristol	£0.87	3	£2.61
Petty Wood	Chilli Garlic Sauce (190g)		E478	Bristol	£1.25	1	£1.25
Petty Wood	Premium Mango Chutney - Medium (230g)		E698	Bristol	£1.10	1	£1.10
Piccolo	Piccolo X BiBADO Yellow Bib		A47	Bristol	£13.00	12	£156.00
Piccolo	Piccolo Organic Apple & Cherry Yoghurt (100g)		A471	Bristol	£4.05	7	£28.35
Piccolo	Children's Organic Stock Cube - Vegetable (48g)		A512	Bristol	£0.97	30	£29.10
Piccolo	Organic Pumpkin & Cheese Pasta Sauce (80g)		A513	Bristol	£0.81	2	£1.62
Piccolo	Organic Mighty Oaty Apple, Carrot & Orange Bars		A532	Bristol	£1.95	15	£29.25
Piccolo	Organic Yellow & Go (90g)		C528	Bristol	£2.59	13	£33.67
Piccolo	Organic Pumpkin & Cheese Sauce (120g)		C532	Bristol	£0.98	24	£23.52
Piccolo	Organic Tomato & Mascarpone Sauce (120g)		C538	Bristol	£0.98	17	£16.66
Piccolo	Organic Pasta Stars 7m+ (500g)		C605	Bristol	£1.63	1	£1.63
Piccolo	Organic Classic Tomato Batch Cooking (350g)		C743	Bristol	£1.96	7	£13.72
Piccolo	Piccolo Organic Sweet Potato & Beef Meatballs (130g)		C748	Bristol	£7.63	13	£99.19
Piccolo	Organic Butternut Squash Mac & Cheese (130g)		C772	Bristol	£7.63	7	£53.41
Piccolo	Organic Pea Risotto (150g)		C774	Bristol	£1.79	18	£32.22
Piccolo	Children's Organic Stock Cube - Chicken (48g)		C902	Bristol	£0.97	16	£15.52
Piccolo	Piccolo X BiBADO Red Bib		C929	Bristol	£13.00	11	£143.00
Piccolo	Piccolo Organic Apple & Raspberry (100g)		F227	Bristol	£4.05	2	£8.10
Piccolo	Organic Pasta Shells 1y+ (500g)		F5	Bristol	£1.63	12	£19.56
Piccolo	Organic Follow On Milk (800g)		F50	Bristol	£12.80	5	£64.00
Pip Organic	Sparkling Apple Juice - 4 Pack		A504	Bristol	£3.40	2	£6.80
Pip Organic	Sparkling Lemon Juice - 4 Pack		B523	Bristol	£3.40	1	£3.40
Pip Organic	Blackcurrant, Raspberry & Apple Juice with Spring Water (Paper S	traws)	D303	Bristol	£2.52	2	£5.04
Pippy Eats	Chilli Crisp Chilli Oil (150g)		E315	Bristol	£3.70	85	£314.50
Pippy Eats	Sichuan Chilli Oil (150g)		E734	Bristol	£3.70	102	£377.40
Pippy Eats	Chiu Chow Chilli Oil (150g)		E735	Bristol	£3.70	74	£273.80
Primebar Itd	Hot & Spicy Salami Sticks (28g)		A718	Bristol	£1.40	20	£28.00
Primebar Itd	Lean Classic Salami Sticks (28g)		C896	Bristol	£1.40	10	£14.00
Proud Drinks Ltd	LGBTQIPA - 2 Pack		D254	Bristol	£3.36	21	£70.56
Pump Street Ltd.	Chocolate Dipped Candied Orange Slices (100g)		E131	Bristol	£5.01	22	£110.22
Pump Street Ltd.	Chocolate Father Christmas (50g)		E137	Bristol	£4.05	39	£157.95
Pump Street Ltd.	Panettone 70% Chocolate (70g)		E138	Bristol	£3.38	16	£54.08
Pump Street Ltd.	Sourdough & Sea Salt 66% (70g)		X129	Bristol	£3.38	1	£3.38
Pump Street Ltd.	Eccles 55% Chocolate (70g)		X23	Bristol	£3.38	42	£141.96
Pump Street Ltd.	Ecuador 85% Hot Chocolate (200g)		X31	Bristol	£7.75	1	£7.75
Pump Street Ltd.	Ecuador 85% (70g)		X35	Bristol	£3.38	9	£30.42
Pump Street Ltd.	Ecuador 100% (70g)		X39	Bristol	£3.38	4	£13.52
Pump Street Ltd.	Ecuador Dark Milk 60% (70g)		X42	Bristol	£3.38	7	£23.66
Pump Street Ltd.	Ecuador 44% Baking Pastilles (225g)		X44	Bristol	£7.75	11	£85.25
Pump Street Ltd.	Grenada 70% (70g)		X48	Bristol	£3.38	13	£43.94

Pump Street Ltd.	Grenada 70% Baking Pastilles (225g)	X52	Bristol	£7.75	8	£62.00
Pump Street Ltd.	Madagascar 58% Baking Pastilles (225g)	X58	Bristol	£7.75	13	£100.75
Pump Street Ltd.	Caramelised Hazelnuts 75% Jamaica (150g)	X7	Bristol	£6.23	24	£149.52
Pump Street Ltd.	Oat Milk 60% (70g)	X77	Bristol	£3.38	8	£27.04
Pump Street Ltd.	Chocolate Gift Box - Our Bestsellers	Х9	Bristol	£13.95	3	£41.85
Punchy Drinks Limited	Peach, Ginger & Chai (6x250ml) (2l)	D759	Bristol	£6.00	3	£18.00
Punchy Drinks Limited	Cucumber, Yuzu & Rosemary (6x250ml) (2l)	D789	Bristol	£6.00	1	£6.00
Quello	Sparkling Wine Can (200ml)	D706	Bristol	£1.35	112	£151.20
Rare Tea Co.	Masala Chai - Loose Leaf Tea (50g)	A188	Bristol	£4.47	2	£8.94
Rare Tea Co.	Speedy English Breakfast - Loose Leaf Tea (50g)	A23	Bristol	£3.35	47	£157.45
Rare Tea Co.	Earl Grey - Loose Leaf Tea (50g)	C97	Bristol	£1.67	7	£11.69
Rare Tea Co.	Wild Rooibos - Loose Leaf Tea (50g)	D108	Bristol	£4.23	2	£8.46
Rare Tea Co.	Oolong - Loose Leaf Tea (50g)	D114	Bristol	£4.21	1	£4.21
Rare Tea Co.	Lemon Blend - Loose Leaf Tea (25g)	D118	Bristol	£3.99	18	£71.82
Rare Tea Co.	Lemon Blend - Loose Leaf Refill (25g)	E532	Bristol	£3.49	1	£3.49
Raw Halo	Organic Mylk Chocolate & Pink Himalayan Salt (70g)	X106	Bristol	£1.60	17	£27.20
Raw Halo	Organic Mylk Chocolate & Vanilla (70g)	X108	Bristol	£1.60	12	£19.20
Raw Halo	Organic Dark 76% Chocolate (70g)	X85	Bristol	£1.60	17	£27.20
Raw Halo	Organic Dark Chocolate & Salted Caramel (70g)	X88	Bristol	£1.60	38	£60.80
Rempapa Sambals	Lime Green Sambal Tumis (100g)	A550	Bristol	£3.00	46	£138.00
Rempapa Spice Company	Penang Kaffir Lime & White Pepper Spice Paste (180g)	A552	Bristol	£3.50	27	£94.50
Rempapa Spice Company	Peranakan Turmeric & Lemongrass Spice Paste (180g)	A553	Bristol	£3.50	20	£70.00
Rempapa Spice Company	Balinese Spiced Tamarind Spice Paste (180g)	A554	Bristol	£3.50	1	£3.50
Rempapa Spice Company	Mamak Curry Leaf & Roasted Cumin Spice Paste (180g)	A555	Bristol	£3.50	23	£80.50
Renegade And Longton	Elderflower Blush Sparkling Wine (75cl)	D439	Bristol	£11.25	8	£90.00
Renegade And Longton	Elderflower Pure Sparkling Wine (75cl)	D689	Bristol	£11.25	13	£146.25
RH Amar	Organic Vanilla Bean Paste (65g)	B680	Bristol	£3.58	1	£3.58
RH Amar	Semi Dried Tomatoes in Oil (295g)	C253	Bristol	£1.97	1	£1.97
RH Amar	Smoothie Fruit - The Green One	C305	Bristol	£2.77	1	£2.77
RH Amar	Dried Porcini Mushrooms (40g)	C410	Bristol	£2.17	2	£4.34
RH Amar	Stage 1 - Apples & Bananas (4m+)	C722	Bristol	£5.09	2	£10.18
RH Amar	Whole Green Figs (410g)	C876	Bristol	£0.90	2	£1.80
RH Amar	Melty Puffs - Strawberries & Bananas (6m+) (20g)	F11	Bristol	£0.57	1	£0.57
RH Amar	Green Frenk Chillies (300g)	F44	Bristol	£0.89	17	£15.13
RH Amar	Red Frenk Chillies (300g)	F71	Bristol	£0.89	26	£23.14
RH Amar	Smoothie Fruit - The Red One (450g)	F92	Bristol	£2.77	1	£2.77
Root Home Product Ltd	S3 Tri Ply Stainless Steel Casserole	C583	Bristol	£76.00	3	£228.00
Root Home Product Ltd	S1 Tri Ply Stainless Steel Saucepan	C607	Bristol	£50.00	4	£200.00
Root Home Product Ltd	S4 Tri Ply Stainless Steel Saute	C645	Bristol	£70.00	4	£280.00
Rooted Spices	Turmeric (35g)	A728	Bristol	£2.95	5	£14.75
Rooted Spices	Cayenne Chilli (30g)	A748	Bristol	£2.95	21	£61.95
Rooted Spices	Aleppo Chilli Pepper (Pul Biber) (35g)	A750	Bristol	£2.95	1	£2.95
Rooted Spices	Ground Cumin (35g)	C685	Bristol	£2.95	24	£70.80
Rooted Spices	Black Urfa Chilli (35g)	C695	Bristol	£2.95	8	£23.60

Rooted Spices	Green Cardamom Pods (25g)	C696	Bristol	£3.10	17	£52.70
Rooted Spices	Daal Blend (40g)	C697	Bristol	£3.10	19	£58.90
Rooted Spices	Green Fennel Seeds (30g)	C705	Bristol	£2.95	22	£64.90
Rooted Spices	House Spice Blend (35g)	C732	Bristol	£3.10	1	£3.10
Rooted Spices	Cumin Seeds (30g)	C749	Bristol	£2.95	12	£35.40
Rooted Spices	Shichimi Togarashi (40g)	C765	Bristol	£3.10	3	£9.30
Rooted Spices	Tellicherry Peppercorns (35g)	C862	Bristol	£3.10	8	£24.80
Rooted Spices	Ancho Chilli Powder (35g)	C866	Bristol	£3.10	6	£18.60
Rooted Spices	Kashmiri Chilli Powder (40g)	C956	Bristol	£2.95	1	£2.95
Rooted Spices	Amchur Dried Mango Powder (35g)	D499	Bristol	£2.95	2	£5.90
Rosebud Preserves	Strawberry Jam (Extra Fruit) (227g)	A148	Bristol	£2.37	1	£2.37
Rosebud Preserves	Red Grapefruit Marmalade (Coarse Cut) (227g)	A352	Bristol	£2.37	4	£9.48
Rosebud Preserves	Yorkshire Rhubarb & Ginger Jam (227g)	A580	Bristol	£2.37	1	£2.37
Rosebud Preserves	Red Onion & Port Marmalade (227g)	E302	Bristol	£2.75	4	£11.00
Rosebud Preserves	Lemon & Ginger Marmalade (227g)	E303	Bristol	£2.37	1	£2.37
Rosebud Preserves	Fig Chutney (198g)	E305	Bristol	£2.37	3	£7.11
Rosebud Preserves	Almond & Orange Mincemeat (340g)	E70	Bristol	£3.57	4	£14.28
Sharpham Park	Organic Spelt White Flour (1kg)	A45	Bristol	£3.00	1	£3.00
· ·		C104	Bristol	£2.06	1	£3.00
Sharpham Park	Organic Spelt Porridge Flakes (500g)	A413	Bristol	£0.81		£2.06
Shipton Mill	Organic Traditional White Flour (For Bread) (1kg)	F47	Bristol	£0.55	1 17	£9.35
Snact	Apple, Blueberry & Banana Fruit Jerky (20g)	F56	Bristol			
Snact	Apple, Blueberry & Banana Fruit Jerky (100g)	_		£2.30	16	£36.80
Springvale Foods	Double Dutch Pomegranate & Basil (11)	D426	Bristol	£2.69	11	£29.59
Springvale Foods	Double Dutch Indian Tonic Water (11)	D449	Bristol	£2.69	7	£18.83
Springvale Foods	Double Dutch Skinny Tonic Water (11)	D473	Bristol	£2.69	9	£24.21
Springvale Foods	Double Dutch Cranberry and Ginger Tonic water (1l)	D498	Bristol	£2.69	8	£21.52
Springvale Foods	Double Dutch Ginger Beer (1l)	D518	Bristol	£2.69	1	£2.69
Springvale Foods	Double Dutch Cucumber & Watermelon (1I)	D84	Bristol	£2.69	9	£24.21
Square Root Soda	Lemonade 6 Pack (2I)	 C185	Bristol	£6.00	22	£132.00
Square Root Soda	East London Tonic 8 Pack (2I)	D111	Bristol	£6.00	11	£66.00
Square Root Soda	Apple Soda 6 Pack (2I)	D77	Bristol	£5.10	21	£107.10
Square Root Soda	Ginger Beer 6 Pack (2I)	D92	Bristol	£6.00	17	£102.00
Square Root Soda	Non-Alcoholic Gin and Tonic 8 Pack (1l)	D94	Bristol	£8.00	14	£112.00
Square Root Soda	Artemisia Tonic 8 Pack (2I)	F189	Bristol	£6.00	1	£6.00
Stores Supply	Ginger Organic Kombucha - 2 Pack	B121	Bristol	£2.56	103	£263.68
Stores Supply	Bonsoy Soya Milk (1I)	C421	Bristol	£2.63	83	£218.29
Stores Supply	Passion Fruit Kombucha - 2 Pack	E318	Bristol	£2.56	36	£92.16
Superfood Bakery	Chewy Chunk Choc Chip Cookie Mix (245g)	C109	Bristol	£2.27	19	£43.13
Superfood Bakery	Brownie Crisps - Choc Chip & Sea Salt (110g)	C131	Bristol	£2.51	41	£102.91
Superfood Bakery	Organic Flippin' Lovely Pancake Mix (200g)	C448	Bristol	£2.27	27	£61.29
Superfood Bakery	Ooey Gooey Brownie Mix (287g)	C565	Bristol	£2.27	20	£45.40
Superfood Bakery	Brownie Crisps - Choc Chip & Hazelnut (110g)	C595	Bristol	£2.51	32	£80.32
Superfood Bakery	Go Splits Banana Bread Mix (250g)	C652	Bristol	£2.27	40	£90.80
Superfood Bakery	Glow Makers Oat & Cranberry Cookie Mix (280g)	D256	Bristol	£2.27	2	£4.54

Superfood Bakery	Wakey Wakey Protein Pancake Mix (200g)	F130	Bristol	£2.39	24	£57.36
Superfood Bakery	Plant Power Protein Chocolate Cookie Mix (200g)	F177	Bristol	£2.39	19	£45.41
Switchels Limited	Jukes 1 - The White (27cl)	B14	Bristol	£22.00	5	£110.00
Switchels Limited	Jukes 6 - The Dark Red (27cl)	B32	Bristol	£22.00	2	£44.00
Switchels Limited	Jukes 2 - Bright Red (27cl)	D33	Bristol	£22.00	4	£88.00
Switchels Limited	Jukes 8 - The Rosé (27cl)	D347	Bristol	£22.00	5	£110.00
Switchels Limited	Jukes 5 - The Crisp White (27cl)	D409	Bristol	£22.00	5	£110.00
Tabitha Eve	Cloth Menstrual Pad - Small	A497	Bristol	£5.50	15	£82.50
Tabitha Eve	Scrunchies - Set of 3	A515	Bristol	£3.11	5	£15.55
Tabitha Eve	Travel Wipes	A667	Bristol	£4.66	18	£83.88
Tabitha Eve	Bath None Sponge	A676	Bristol	£3.76	4	£15.04
Tabitha Eve	Organic Bamboo Make Up Pads	A678	Bristol	£3.48	24	£83.52
Tabitha Eve	Reusable Baby Wipe	A695	Bristol	£3.48	2	£6.96
Tabitha Eve	Reusable Cotton Produce Bag	A704	Bristol	£1.50	17	£25.50
Tabitha Eve	Cotton Bowl Cover - Set of 3	A725	Bristol	£8.98	5	£44.90
Tabitha Eve	Organic Cotton Face Mask (Child's) - Llama Print	C768	Bristol	£4.00	27	£108.00
Tabitha Eve	Organic Bamboo Muslin - Large	C770	Bristol	£4.70	1	£4.70
Tabitha Eve	Cloth Menstrual Pad - Midi	C899	Bristol	£5.50	4	£22.00
Tabitha Eve	Interlabial Pads	C944	Bristol	£2.98	6	£17.88
Tabitha Eve	Cloth Menstrual Pad - Long	E668	Bristol	£5.50	4	£22.00
The Berry Company Limited	CartOn Water (12x330ml) (4l)	B416	Bristol	£4.20	1	£4.20
The Cotswold Distilling Company I	Single Malt Whisky (70cl)	D320	Bristol	£27.73	24	£665.52
The Cotswold Distilling Company I	Cotswolds Dry Gin (70cl)	D577	Bristol	£24.00	61	£1,464.00
The Cotswold Distilling Company I	Cream Liqueur (700ml)	F65	Bristol	£15.36	64	£983.04
The Mixology Collection	3/4 oz Ginger Ale Syrup (500ml)	A648	Bristol	£9.09	1	£9.09
The Mixology Collection	3/4 oz Tonic Syrup (500ml)	C403	Bristol	£9.09	1	£9.09
The Oxford Charcoal Company	Hardwood Blend BBQ Charcoal (5kg)	A330	Bristol	£11.90	16	£190.40
The Oxford Charcoal Company	Ethical Hardwood Charcoal 5kg (5kg)	A366	Bristol	£8.93	3	£26.79
The Oxford Charcoal Company	Small Logs - Oak (3kg)	B198	Bristol	£19.42	1	£19.42
The Oxford Charcoal Company	Weber Style Briquettes 3.5kg (4kg)	B204	Bristol	£5.75	30	£172.50
The Oxford Charcoal Company	Small Logs - Apple (3kg)	B221	Bristol	£19.42	5	£97.10
The Oxford Charcoal Company	BBQ Smoking Chips – Whisky Oak 1 litres (1I)	B367	Bristol	£5.00	6	£30.00
The Oxford Charcoal Company	BBQ Smoking Chips – Apple 1 litre (1I)	B368	Bristol	£5.00	19	£95.00
The Oxford Charcoal Company	BBQ Smoking Chips – Hickory 1 litres (11)	B369	Bristol	£5.00	7	£35.00
The Oxford Charcoal Company	Small Logs - Aged Whisky Barrel Wood Logs (3)	B448	Bristol	£15.79	2	£31.58
The Oxford Charcoal Company	BBQ Smoking Chips - Oak 1 Litres (11)	D71	Bristol	£5.00	10	£50.00
The Ultimate Pudding Company	Triple Chocolate Pudding (290g)	D307	Bristol	£3.89	1	£3.89
Three Choirs	Three Choirs Willow Brook (75cl)	D381	Bristol	£6.13	2	£12.26
Toast Ale	American Pale Ale (330ml)	D34	Bristol	£1.33	11	£14.63
Trenchmore Farm	Silly Moo Sussex Cider (330ml)	A17	Bristol	£1.40	1	£1.40
TrueStart Coffee Merchants Ltd	Barista Grade Instant Coffee (100% Arabica) (100g)	C926	Bristol	£3.29	25	£82.25
TrueStart Coffee Merchants Ltd	Original Black Cold Brewed Coffee	D145	Bristol	£4.92	27	£132.84
TrueStart Coffee Merchants Ltd	Vanilla Coconut Cold Brewed Coffee - 4 Pack	D175	Bristol	£4.92	24	£118.08
Urban Cordial Company	Elderflower Cordial (500ml)	B81	Bristol	£3.17	1	£3.17

Urban Cordial Company	Pear & Ginger Cordial (500ml)	C115	Bristol	£3.17	1	£3.17
Volcano Coffee Works	Fully Compostable Coffee Pods: Reserve	C282	Bristol	£5.25	2	£10.50
Volcano Coffee Works	Assembly House Espresso: Colombia (Wholebean) (200g)	D3	Bristol	£6.00	11	£66.00
Worley's Cider	Rocky Road Cider (50cl)	A225	Bristol	£1.63	87	£141.81
Worley's Cider	Keeved Special Reserve Cider (75cl)	D554	Bristol	£4.20	96	£403.20
Worley's Cider	Red Hen Cider (50cl)	D582	Bristol	£1.63	75	£122.25
Worley's Cider	Beatnik Billy Sweet Cider (50cl)	D811	Bristol	£1.63	39	£63.57
					11,121	£64,235.88